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public woid checkPass (String paramString)

String str = CheckUtil.checkPsss(paramString); i 1
3]

if ((paramString == null) || (paramString.eguals(”
[

Toast.makaTaxt (getipplicationContext (), getString(2131034114), 1).show();
return;

}

if (atr.equala(“a®))

f 2
startAictivity(new Intent(this, Windowhctiwvity.class));

return;

Toast.makeText(getipplicationContext (), getString(2131034115), 1).show(};
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package com.humen.crackme010;

public class Checkutil
{

publiec statie native String checkPass(String paramString);
}

FAALBCH) = BHe A —sofiig B TIB = 2k &R H73E so)ii A M 2 i humen

static

i
System. loadbibrary ("humen") ;
}
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[ot:00002FAS my_debugger_thread ptr dd offset my debugger_thread
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1ot : 00002FAR i DATA XREF: my_debugc
1ot : 00002FAC t_ptr dd offset t ; DATA XREF: Java_ com_
1ot : 00002FAC _got ends ; "S!@#@1FD23154A34]"

1ot : 00002FAC

iot.plt:00002FB0 ; ==s=s==========s===s===s========s===s===========s========
jot.plt:00002FBO

jot.plt:00002FB0 ; Segment type: Pure data

jot.plt:00002FB0 ; Segment permissions: Read/Write
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button.sstonClickListensr (new View.OnClickListensr ()
{

public void oaClick(View paramAnonymousView)

I if (GmtS3tripg.snerypt(editText.getText () .tod3cring().crim()})
i
Toast .makeText (Mainhotivity.this, "OR", 0).show();
return;
}
Toast.makeTaxc(MainActivity.this, "Error"”, 0).show();
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public class ﬂlHl:cl:ind

i
on static
fitText {
B Systenm. loadLibrary ("ATU") ;
‘ontext) : boole !

ndle) : void
publio statio native boolean snorypet(String paramString);

public static native String gesSeriagl);

public static native String sendData(String paramString);
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1 dest = [8x39,08x28,7,08xA,08x28,08x29,08x13,2,08x3A,08xC,08x11,08x31,08x3B,08xB,7]
2 str = 'WelcOmeTOXTUCTF'

3 strl = 'yInS567!bcNOUV8vWCDefXYZadoPQRGx13ghTpqrsHklm2EFtuJKLzMijABO94W'
4 a = len(str)

5b=""

6 for i in range(a):

7 b += stri[dest[i]]

8 print b
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\class m
{
public static String main(String([] args)
{
String = = ;
for (int § : "vﬁ‘ﬁﬁﬂnﬂ!ﬁviﬂﬂ‘f’iiﬂ".q".tuchnrﬂ_trﬂy{]:
x = x + (char) ({§ >> 1) + 15); return x;
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public static void maim(String[] args) {

ff T0DO code application logic here
String x =
for (int § ; "WELKEE-EIELICE*E* 110 —", toCharArrav())

% =x + (char) ((§ »>» 1) + 158);
Svstem. out. println(x) ;

}
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public static int (int ~, String €)

( 1

B3 return JL@#(>) % €.length();
}

private static int L@&(int ) |
87 if (» > 2) return JLB&(x - 1) + L@»(~ - 2); return 1 2
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1 # -*- coding: utf-8 -*-
2 def fi(a,b):

3 return f2(a) % len(b)

4 def f2(b):

5 if b > 2:

6 return f2(b - 1) + f2(b - 2)
7 else:

8 return 1

9 x = 'JsnatterrtJuaththovacke'
10b=""
11 z = 0
12 for i in range(0,4):
13 for j in range(9,4):
14 b += x[f1(z + j,x)]
15 z +=5
16 print b
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